
Ａコース Ｂコース

①

＝

＝

(25x－45)÷
5
7

＝

＝

＝

＝

＝

＝

＝

＝

＝

⑤

＝

＝

(14x－22)÷
2
9

④

＝

＝

(65a－80)÷(－ 2
5
）

③

＝

＝

(35a－56)÷(－
7
6）

②

＝

＝

(27x－21)÷
3
8

①

＝

＝

(16x＋28)÷(－
4
7

)

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

＝

②

＝

＝

(32a－40)÷(－
8
3）

③

＝

＝

(21x＋12)÷(－
3
2

)

④

＝

＝

(63a－18)÷
9
4

⑤

＝

＝

(42a－30)÷(－ 5
6
）

Ｃコース Ｄコース

①

＝

＝

a＋2
3 ＋

－5a＋2
6

＝

＝

＝

②

＝

＝

3a－5
4 －

2a－4
3

＝

＝

＝

③

＝

＝

6x－2
4 －

3x－5
10

＝

＝

＝

④

＝

＝

3x＋2
6 ＋

－5x－3
8

＝

＝

＝

⑤

＝

＝

－a－
2a＋2

3

＝

＝

＝

①

＝

＝

2x＋3
2 ＋

－x－4
3

＝

＝

＝

②

＝

＝

6x－1
3 －

8x－5
4

＝

＝

＝

③

＝

＝

5x－1
3 ＋

3x＋1
2

＝

＝

＝

④

＝

＝

2x＋1
3 －

x－2
6

＝

＝

＝

⑤

＝

＝

－4x－
x－9

3

＝

＝

＝

解 説

中
１

ＮＡＭＥ

ＮＯ９ 文字式:複雑な分数計算－②

mistake文字式ＮＯ ９


